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r1=02+0.04 (3" =0.56 m
r,=0.08(3)=024 m/s
7= 0.08 m/s®
6 =0.2(3)+0.02 (3 =1.14 rad
L 6 = 1.14 (180/7) = 65.3°
6,=0.2 + 0.06 (3*) = 0.74 rad/s

6;=0.12 (3) = 0.36 rad/s*

[ur = .I"] U = 0.24 m/s
vp=0.56 (0.74) = 0.414 mJs
=(0.24)" +(0.414) =0.479 m/s

g

a, = 0.08 - 0.56 (0.74)* = - 0.227 mvs®
ap=0.56 (0.36) + 2 (0.24)(0.74) = 0.557 m/s’
a=1(-0227) +(0.557) =0.601 m/s’
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YOV o0 S -5
Ve =vVa+wap Xrga =0+ (2rad/s)k x (0.32 m)i = (0.64 m/s)j

ve = vVve+waep X rop=(0.64 m/s)j + wacpk x (0.24i + 0.48)) m

= (=048 mlwzrpi+ (0,64 m/s + [0.24 mlwgzepli
Since C cannot move in the j direction we know
0.64 m/s + {0.24 m}wgerp =0 = wyep = —2.67 rad's
Now we do the acceleration analysis
2
Ap =84 + AR X FB/A — WAR TB/A
o2 p - - W2 -
=0+ (8 rad/s" )k » (0.32 m)i — (2 rad/s)"(0.32 m)i

= (=1.28i + 2.56j) m/s
Ac = ag +apc X Ic/g — mECETC'..'H
= (—1.28i + 2.56j) m/s” + azcpk x (0.24i + 0.48)) m
— (—=2.67 rad/s)*(0.24i + 0.48j) m
= (—=2.99 m/s’ — {0.48 mlagcp)i

+ (—0.853 m/s? + {0.24 m)agcp)j
Since C cannot move in the j direction we know

—0.853 m/s® + {0.24 m)ascp = 0 = wpcp = 3.56 rad/s’
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W=l + IMEA, 0=0.2670 +2.00(0.4)- 20 (0. 4)
X = 750 rad/s?
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